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Choose the nearest answer.  
For the shown beam, it is required to determine the deflections 

at B and D and the slopes at A and D by using the double 

integration method. 

      EI = 1×104 kN.m2 
 

1. The vertical reaction at the roller support C is: 
(A) 30 kN  (B) 15 kN  (C) 15 kN   (D) zero   

2. The vertical reaction at the hinged support A is: 
(A) zero (B) 40 kN  (C) 15 kN  (D)  15 kN      

3. The bending moment equation (M) in the last part CD is: 
(A) 30 (x–3) - 30 (x–6)     (B) -30 (x–3) + 30 (x–6)     (C) -3 (x–6) + 30 (x–8)     (D) 30 (x+3) + 30 (x+6)       

4. EIy' = …… 
(A) -30 (x–3)2 +30 (x–6)2+C1

     (B) -15 (x–3)2 +15 (x–6)2+C1
     (C) -1.5 (x–6)2 +15 (x–8)2     (D) 15 (x+3)2 +15 (x+6)2+C1

       

5. EIy = …… 
(A)-5 (x–3)3+5 (x–6)3 (B)-5 (x)3+5 (x)3+C1x+C2 (C)-5 (x–3)3+5 (x–6)3+C1x+C2 (D)5 (x)3+5 (x+6)3+C1+C2   

6. Boundary Conditions are: 
(A) At x= 3,  y= 0  & at x= 6,  y= 0    (B) At x= 0,  y= 0  & at x= 8,  y’= 0    (C) At x= 0,  y= 0  & at x= 6,  y= 0      

7. C1 and C2 are: 
(A) C1=0 and C2=22.5 (B) C1=-22.5 and C2=10 (C) C1=2.5 and C2=10  (D) C1=22.5 and C2=0   

8. The deflection at B, yB is: 
(A) 11.2 mm  (B) 6.75 mm  (C) zero (D)  11.2 mm    

9. The deflection at D, yD is: 
(A) 11.2 mm  (B) 10.1 mm  (C) zero  (D) 40.5 mm  

10. The value of slope at A, A = y'A is: 
(A) 0.00225 rad (B) 0.702 rad (C) 0.012 rad (D)  0.055 rad   

11. The value of slope at D, D = y'D is: 
(A) 0.02925 rad (B) 0.702 rad (C) 0.055 rad (D)  0.041 rad   

12. The nearest elastic curve of the shown beam is:  
(A)   (B)  (C)  (D)  

 

 
 

 
For the shown beam, it is required to determine the slope at A and the deflection at C by using the moment-area method.   

EI = 2.5×103 kN.m2 

 

13. The vertical reaction at the hinged support A is: 
(A) 60 kN  (B) 60 kN  (C) 6 kN  (D)  6 kN      

14. The vertical reaction at the roller support B is: 
(A) 60 kN  (B) 60 kN  (C) 6 kN  (D)  6 kN      

15. The bending moment at C is: 
(A) 32 kN.m   (B) -16 kN.m   (C) 24 kN.m   (D) 60 kN.m       

16. The bending moment at D is: 
(A) -24 kN.m   (B) -60 kN.m   (C) 40 kN.m   (D) -16 kN.m     

17. The deviation of B relative to the tangent of the elastic curve at A, tB/A is: 
(A) 0.032 m (B) 0.016 m (C) 0.048 m (D)  0.096 m    

18. The slope of the tangent of the elastic curve at A, A is: 
(A) 0.0032 rad  (B) 0.0096 rad  (C) 0.0016 rad  (D)  0.0048 rad     

19. The deflection at C, C is: 
(A) 12.8 mm  (B) 5.5 mm  (C) zero (D)  4.6 mm    

20. The nearest elastic curve of the shown beam is:  
(A)    (B)   (C)   (D)   
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